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1,200000 00 BSS(Blind Source Separation) 00 O0n 00000 s4(t), e =1,...,n000000
a;; UOOOOOOOO

J,‘i(t) = Zai,jsj(t), 1= 1,...,m (25)
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n T
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1,...,n000000 y(t), i=1,...,n0000000000 BSD(Blind Source Decomposition) 0 0 00
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r(t)00t=1,2,..., NOODODDOOOODODDOOODO (28)00000z =€e2/NOooo3000
00o00O0O00oooOoooon
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gdoboooooooodo W(T)D
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R(r') = Elp(y(t)y" (t —7')] (32)

gbooobooboooobobooobogooboo

1

T
R(r) = 2 elyt)y"(t -7 (33)
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googoooood

008000000000 O0O0D 31)D0OODDO BSDUOOOOOODOO (tdical.m, nor.m)

4 ICAOOOOO
4.1 ICAO0O0OOOOOOOOOO,DO0000
000000000000000ICADODOODOODO0OND0O0000000 20000
ExgroF (2, A)] =0 (34)

gooodoooooooodU0 A0QOoO0UoUoooooooOoUoUUooooOoOooOoOoUooooooo
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F(x,A) = I+ o(y)y" )W (35)
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18



0000000000000 ooDoDooboboooDooDoowoobooooo
oboooOoboooobobooooobooooboobooooobobooooboOoboooooboooong

O000ICAODOOOOUOOODOOD F£, A)D000000O0O0OO0OOO0OOOOOOOOOOOOOOO
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oo0000oooOOo0o0ooOo ATOOOooOOOoOIcCADDODOODODO ATODooOoOoOooooDoe
000 A0D0D0DUO0O0O0¢000000o0uood »(s)000oooooooIcAODOUOOUOOoooo
00000000000 AD 2000000000000 muisance 010000000000000O r(s)
gboboobOoboOoobooboooobooooboboboobOuisance0O000O0O0O0O0OOOOOOOO
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O0000000ooooooooooooooOo000D Cramér-Reo0000O0O0O0OOOOO0OO
000000000 Amari0400000000000000000000000000000O00O00O000
0000000000000 A7D0DO0O00O0O0OO0OD0OOO0OO0O0O Cramér-Rao0000O0O00OOO
goo0ooOoO00ooOo00000UooOoDoOooUoooODOUooOUOO ATDA8ODOODODOOOO

4.2 00000, nuisance d O O

nuisance 0000 r(s) DO0OO00D0O00O00O0 +-00000000000Onuisance 00000
T(s)DDDDDDDDDDDDDDU(:C;A,?“):%logp(:c;A,r)DDDDDDDDDDDDDDDDDD
0000000000000 0o0oDoU0o0o00Ur(s) 0000000000000 DO0OO0OO0O0UD
gbobooobooooooooobobobobobobobobLDooooooboobooooooooo
O0000000000000000000000 r(s;) 00

ri(si5 iy 0) = ri(si){1 + devi(si)}

000000000000000a(s;) 00000000000 é00000000000a(s;)000
(4400000000000 He, 000D0000ICADODDOr(s){l+6a;(s;)} 00000000 10
000D000°0000000000000

Ea[sici(s:)] =0, EA,,,[(SZ2 —Day(s;)] =0 (37)

ocoooooooooOoDODODODODOOn

000000000000 Hy,0OOOOOOOOOO0OO000000000000O0O0O00000O
O0r(s,) 00000000000 a=(ai(s1),.--,a,(s,))7000000000000000 60000
000000000000 00 «00000 nuisance 00000 v(x; ) 00

n

r(s;a, ) = HT(Si; @;,0)

i=1

4S. Amari, J.-F. Cardoso, “Blind source separation - semiparametric statistical approach,” IEEE trans. on Signal
Processing, vol.45, no.11, pp.2692-2700, 19970
0000000000000 0000000DDDD 100000000000000 U?DDDDD
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ogood
v(z; ) = lim d logp(x; A, r(s; a, 9))

5—0 dob
O0D00Op(x)=r(s)|A|"10000O
9 ogp(@ A, r(sia,0)) = L A r(s; )
d6 ng ) 7’r ) ) - p<m> dép ) ?r 3 )
1 d
= ———(|A| Y (s;
) a5 A (i)

1

d
e

d
= 5 logr(s; a, 0)

d n
= % loggri(si7ai,5)

d
= 2 5 logr;(s;, @i, 0)

n 1 d
= ; ri(onon0) %h‘(sz‘, @, 0)

- 1
- ; T’i(siaa%é)ri(Si)ai(Si)
0000000060 —0000007(s4,04,0) —1r;(s;) 0000000000 «00000 nuisance 00O
000 v(z;) OO

vz a) = Zai(si) (38)
i=1

O00000000OOnuisance 0000000000000 0000 a0000v(z;)00000O0O0OO

Ty, = (vl ) v = {Zamsi)}
i=1

O000000000Onuisance0 000000 TI{‘\{TDDDDDDDD r(s)0000000000000O
O00Onuisance OO 0OOOO

Ve (sq)

4.3 A-0D000DOOOODOOOO

B
000000000000 A000000000 —logp(x;A,r)000000000000 A
A=A\I-E)
000000000 A4, 000000 ED0O0ODOOODOOO00A, 000000 EQOOOOOOO
0U(x;A,r)000000

01 T A
U(w; A,r) = —ng;g ") =(s)s" +1 (39)
E=0

0D0O0%00000s=A"'20000000

p(s) = (p1(s1),-- .,@n(sn))T’ pilsi) = L(Sz)

Gniuinlsisisisislislinlnln
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000000000 A, 0000 E-O0DODO0OO0 ADDOODOODOOOO

Ologp(x; A,r) B _(Afl)Talogp(x;A, T)
= 0

(40)
oA aa, OE B0

ooooooo
0000000000 U%(x;A,7)0000 E-00000 U(a; A,r) O Onuisance 100 74, 0000

0000000000000 0000000000E-00000 U(x;A,r)000000 @(si)s;, i #j

O00s,0s,000000000000000000000

(st fjak<sk>> = Bacftsns Y oo

— k=1
= Z By, [@i(sz‘)sy‘ak(sk)}
k=1
_ 0 (41)

0000 nuisance O O O TAVJ,DDDDEIDDDDDDDDDDDDDDDDDDDDDDDDDDDDD
00000000000000000000000000000000000 37000000 «a4(s;) O
5,0 -10000000000000000000000D0O0000OODOOOCODOOO0OE-ODODOO
OU(x;A,r) J00000000Omuisance 0000000000000 Oe,d; 0000000

Ci(S?71)+diS¢
Joooooooboooooooobooooooobo 05000 UE(a:;A,r)Zv,jDD

ci(s] — 1) +disi, i=]

UE(:B;A’T)‘,' = . .
" { vi(8i)s, i F ]

gboobooboaogad

4.4 ICAOOO0OOOOOOOOO
ooooooo UE(:L';A,T)DDDDDDDDDDDDDDDDD
TY, = {pi(si)s;}
gdoooodobooouoboooo T(S)DDDD TE)TDDD
TY ={T%, Yo,

goooooooo
Ea fa(x)] =0

000000000 e(x)000000000O0O(A,r) 000000 ancillary 00O TA‘{TDDDDDDDD
U U nuisance 0 O O TAV’TD Tf’rDDDDDDDDDDDDDDDDDDDDDDDDD ri(s;) 0000
T,.000
T3 ={T4, }vn,
gooood
Amari, Kawanabe 00000000 7/ 0000

EAJ,[UE(:E; A" =0
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000000000000000000000000000000000000000000000000
O00ICADODOOODODOOOOODODOOOOONOD ADODOOOODODOOOOs0 ;000
0000000 ()0000

Earlpi(si)si] =0

gboooooboobooobobooooobooooooob 1boooooboon
EA7T[Ci(S§71)+diSi]:O

00000000000ICADDDDODDD F(z,A)000000000 U¥(x;A,7)000000 T4,
00000000000 B(z; A,r) 00

F(x;A)=C(A, T)UE(m; A r)+ B(x; A, r)

0000000000000 0O0DDOO0O0O0000000C(A,r)0040000000000000
000 UP(x;A,r) 0000000000000000C(A,7) 0000 C(A,7),;x 0000000
C(A, U (x;A,r)0 j,k0000

> C(A ) U (5 A, )

hi

O00000000O00C(A,r)00O000C0DOOOOOO

I+ap(y)y” + Bye(y)”

gooboboobooboobooboobboobooboobooo

4.5 ICAODOOOOOOODO

000o00000o00o000oo0Uo0U0oo0U WnoooooUoUoo0UdrLOOOOOUOOOO
00000 UB(z;A,r) 00000 F(z,A)D0000000 MODDDOOO0OO0O0OO FisheeDODDOODO
gboooobooooboooo

A OO
Al DO00O0O0DOO

0000wy, i=1,...,n00y, 00000000 ¢(y,) 0000y =(y1,...,4,)7 0000000 ¢(y)
O

«w=11%wn

000000000000000000000000000000000000000000000000
000000000000000000000000000 4w O00000000000000000000
0000000000000000000000000000000000000000000000000
000000000000000000000000000000000000000000000000
OOy, 0000000000 ¢fpPy}?]00000000000000000cy™y22] = cfy™]cfys2] 0
0000000000000000000000000000000n,,n,00000000000n;+ns
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000000703000000000000000000000000000000000 0000000
0000000000000000

00000000000 4,5, 0000000000000000000n;, =n,=1000000
O clyryz] = cfyalcfye] OO Efyry2] = E[yi|Efye] = 000000000000000000000O00O0O0O
ny =2, ng =100000 Elyiyz] = E[yf]E[y2] = 00n1 =2, np =200000 cfyfys] = clyilely] =
Elyf]|E[y3]0n =3, no = 100000 cyfys] = clyflelys] = Eyf]Elys] =0000000000000
000000000000 000000000000000000000000000000000000
00000000000000000000000000000000000000000000000

000000000000000000000000000000 y;, é=1,...,n,000000000
000000000000000 ", H(y) D y00O000000 Hy)0OOO000000000
0000000000000000000000000000000000y;, i=1,...,n000000
0oooo

n

I(y) = H(y)— H(y)

i=1
gobobooobooboobooboobbooboobooboobobo

A2 0O000O0OODOODO

O000yO0000D0000000000000000000000000000000000000
000000000000000000000000000000000000000000000000
000000000000000000000000000000000000000000000000
000000000000000000000000000000000000D00D00300000000
000000000000000000D000000 000000 »w 0300000000 clyf]=EW0
400000000 clyf] =EWi]-3ER}?000000000000000000D00O0OO0OOOOO
0000000000000000000000%0004000000000000 20000000
Ey}]/Ep3})?0000000000000000D000D0 300000000000300000000
0000000000000040000000000000000000000000

0000000000000 0000000000000000000000000000000000
00000000000000000000000000000000000000000000000
00000000000 0000000000y0000000000000000000000000
OD0000 yYgeuss 10000

H(Ygauss) — H(y)

gboboobOoboooboobobybOobOobooboobobobooobobOobooon

A3 0O00O0O0OOODOObDObDOOOO

000000 p(z) 0000000000 20000000 H(z)OO

H(x) = - / p(x) log p(z)de

‘000000000000000000¢[y;ty,?]0000000000000000¢[y1,n1; y2,n2] 0000000000
00000y'y,? 000000000y 0y,200000000000000000000

S00000000000000w}|0000000000000¢[y,3]000000000000000y; 03000000
004 0000000000000000

23



O00000ooooooooo0o0o0oooooooDDDDOodifferential entropy OO0 O0O00O0O
000000000000 000U00000000000O0000O0000O000DO0OU0OO p(z)0OO
gbooobooaod

H(x) ~ —iE[ac?’]2 - %c[m‘l]2 (42)

00000D000000000000000000000D00000H(z) =000000000000
H(z)<00O0OOO

A4 0O00OO

0000ooo0o0oU0ooowiooUoooooUoo f(W)oOoOoUooooooooooooooo
O000OWOOoOOoO AWOOO0o0ooow+AWOOOOO0O0Oo0o0oo0oooO f(W+AW)OOOO

0000 AWOOAW O Frobenius 00 0°0000000000000000O00O0 AW:df(W)D
oo0ooodooooooooooooOoooooIcAgooooooooooooooooooooog
oooooooooowoobooogoooooooooooooooooooooooobooobooo
Aw Ooooooooooooooooooooooooooooooooooooooooooooo
gbobooboooobooooooboon
gboooboooboodgbuooboobgobobobobbobooon

W+ AW = (I + AWW Hw
O00000D0 AWW '000000000y=WzOy+Ay=(W+AW)zOODOOOAyODO
Ay =AWW ly

gooooOooooOo0Oy0O0O AyOOOOOOOOODOOOODOOOOOO
000 AWW ' 0 Frobenius 0000000000000

tr(AWW HT(AWW 1)) =

00000000oo00ooooooo0f(W+AW)0O 100000000000000O0
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ooooooooobooooobooo axOboOoooooboooo

T
S (%AW) —Atr(AWW HT(AWW 1)) —¢)

oOooooo Awgooooooooooo

4] df(W)T
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—awtw H AawT =0

gboboobooboooooboooobobooooboooobobooboOobooon
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wiw

gbooobOobooooobooooboboooooboooon
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00 p(x;6,6) 00
p(7;6,8)(1 4 cw(z))
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B 00000 (MatlabOODOOOO)

function ica_learni(x,eta,maxIter)
% 00 y3000 ICA

% x: 0OO0OO

% eta: OO0

% maxIter: OO OOO0O

m=size(x,1); % 00000
n=size(x,2); % 00O

% 0000000000000 00DO00DO0DOooOO
W=eye (m) ;

% 000000000 o000 1000000
x=nor (x) ;

% 00000

for i=1:maxIter
y = Wkx;

% DeltaW = (W’)"(-1) + phi(y)*x’/n; % 0000 OOOOO
DeltaW = (eye(m)+phi(y)*y’/n)*W; % DOOOOO0OO0O
W =W + eta * DeltaW;
plot(y(1,:),y(2,:),’r.”);
axis([-3 3 -3 3]);
drawnow;

end

function y = phi(x)
y=-(x.73);
% y=-tanh(x);

function ica_learn2(x,eta,maxIter)
% Extended Infomax [J

% x: 0000

% eta: 0OO0O

% maxIter: DO O OO0

m=size(x,1); % 00000
n=size(x,2); % 00O

» 00000000000 00000000000000
W=eye (m) ;

% 000000000 o000 100D00OO
x=nor (x) ;

% 00000

for i=1:maxIter
y = Wkx;

% DeltaW = (W’)~(-1) + phi(y)*x’/n; % 000000000
DeltaW = (eye(m)+phi(y)*y’/n)xW; % DOO0O0OOOOO
W =W + eta * DeltaW;
plot(y(1,:),y(2,:),’r.”);
axis([-3 3 -3 3]);
drawnow;

end

function y = phi(x)
y=-(x+diag(sign(cumulant (x’)))*tanh(x));

function y=cumulant (x)
y=mean(x."4)-3*mean(x."2).72;

function ica_learn3(x,eta,maxIter,s,A)
% Extended Infomax OO0 OODO

% x: 0000

% eta: OOO0O

% maxIter: OO OOO0O
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%s 0000000000
%A : 00000000000

close

m=size(x,1); % 00O OO0
n=size(x,2); % 000

% x000000000, DO00O0000sO00D00O0O0O0O0OOOODOO00OD
x=nor (x) ;
s=nor(s);

%x000000000000DOO00O0ODOO
A=x/s;

err=[];

% 0000000000000000000000D000
W=eye (m) ;

% 00000

for i=1:maxIter
y = Wkx;
err=[err mseica(s,A,y,W)];
DeltaW = (eye(m)+phi(y)*y’/n)*W;
W =W + eta * DeltaW;
plot(y(1,:),y(2,:),’r.”); axis([-3 3 -3 3]);
drawnow;

end

figure

K=1:size(err,2);

semilogy(K,err(1,:),’b-",K,err(2,:),’r-’ ,K,err(3,:),’g-?);
legend(’mse’,’mseA’,’cc’);

function y = phi(x)
y=-(x+diag(sign(cumulant(x’)))*tanh(x));

function y=cumulant (x)
y=mean(x."4)-3*mean(x."2).72;

function ica_learn4(x,eta,maxIter)
% 000Doooooo

% x: 0000

% eta: OODO0O

% maxIter: 0O O OO0

m=size(x,1); % 00000
n=size(x,2); % 00O

% 0000000000000 00O0
[x,V,D]=prewhitening(x);

% 0000000000000 00oo0U0oDoooOooog
W=eye (m) ;

for k=1:maxIter
y = Wkx;
dW = ((phi(y)*y’-y*phi(y)’)/n)*W;
W =W+ eta * dW;
plot(y(1,:),y(2,:),°r.”);
axis([-3 3 -3 3]);
drawnow;

end

function y = phi(x)
y=-(x+diag(sign(cumulant (x’)))*tanh(x));

function y=cumulant (x)
y=mean(x. 4)-3*mean(x."2).72;
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function ica_learn5(x,eta,maxIter)
% 00000000 ICcA

% x: 0000

% eta: OOO0O

% maxIter: 0O O O0O0O

m=size(x,1); % 00000
n=size(x,2); % 00O

% 0000000000000 00O0
[x,V,D]=prewhitening(x);

% 0000000000000 0000oOoooOooog
W=eye (m) ;

for k=1:maxIter
y = Wkx;

dw = (x*(y."3)’)*diag(mean(y."4,2))/(n*6)+(x*(y."2)’)*diag(mean(y."3,2))/(n*2) ...

=(x*(y."3)?)/(n*2)+(3/2)*W’-W’*diag(mean(y."4,2))/2;
W=W+ eta * dW’;
[Q,R] = qr(w?);
W=Q;
plot(y(1,:),y(2,:),’r.”);
axis([-3 3 -3 3]);
drawnow;
end

function ica_learn6(x,eta,maxIter)

% Fast ICA

% x: 0000

% eta: OO0O0O0OFast ICAODODDODOOODOODOOO
% maxIter: OO OOO0O

m=size(x,1); % 00O OO0
n=size(x,2); % 00O

» 0000000000000000
[x,V,D]=prewhitening(x);

% 0000000000000 00DO00DO0DOoOoO
W=eye (m) ;

for k=1:maxIter
y = Wkx;

L = diag(mean(y.*gg(y),2));
B = (diag(mean(ggg(y),2))-L)"(-1);
W =W+ Bx(L-(gg(y)*y’) /n) *W;

[Q,R] = qr(W?);
W=Q;
plot(y(1,:),y(2,:),°r.”);
axis([-3 3 -3 3]);
drawnow;

end

function y=g(y)
y=y. 4;
%y=log(cosh(y));
%hy=—exp(-y."2/2);

function y=gg(y)
y=4*y."3;
%y=sinh(y)./cosh(y);
%y=y.xexp(-y."2/2);

function y=ggg(y)
y=12%y."2;
%y=1./cosh(y).~2;
%y=(1-y.~2) .xexp(-y."2/2);
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function ica_imagel
% extended infomax DO OO0 ICAODO

close
figure
set(gcf,’Position’, [10 550 800 200]);

% 000ooooooooo
load pics_128x128
sl=images(:,:,1);
s2=images(:,:,2);
s3=images(:,:,3);
s=[s1(:) s2(:) s3(:)]17;

m=size(s,1); % 000
n=size(s,2); % 000

viewer(s)
pause

% 000oooo
A=randn(m) ;
x=A%*s;
x=nor (x) ;

viewer (x)
pause

eta=0.4;
W=eye (m) ;

for k=1:70
y =W * x;
DeltaW = (eye(m)+phi(y)*y’/n)*W;
W =W + eta * DeltaW;
viewer (y)
end

% 0000000
function viewer(x)
n=size(x,1);
for i=1:n
y=reshape(x(i,:),128,128);
subplot(1l,n,i)
% Image processing toolbox 00000 Oimage() D OO0
imshow (y, [min(y(:)) max(y(:))]1)
drawnow
end

function y = phi(x)
y=-(x+diag(sign(cumulant(x’)))*tanh(x));

function y=cumulant (x)
y=mean(x."4)-3*mean(x."2).72;

function ica_image2
% 00000000000000 1cA0OO

close
figure
set(gcf, ’Position’, [10 550 800 200]);

% 0000000ooooo
load pics_128x128
si=images(:,:,1);
s2=images(:,:,2);
s3=images(:,:,3);
s=[s1(:) s2(:) s3(:)]17;

m=size(s,1); % 000
n=size(s,2); % U000
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viewer(s)
pause

% O000oooo
A=randn(m) ;

x=A*s;
[x,V,D]=prewhitening(x);

viewer (x)
pause

eta=1.0;
W=eye (m) ;

for k=1:50
y =W x* x;
dW = ((phi(y)*y’-y*phi(y)’)/n)*W;
W =W+ eta * dW;
viewer (y)
end

% 0000000
function viewer(x)
n=size(x,1);
for i=1:n
y=reshape(x(i,:),128,128);
subplot(1l,n,i)
% Image processing toolbox 00000 Oimage() D OO0
imshow(y, min(y(:)) max(y(:))]1)
drawnow
end

function y = phi(x)
y=-(x+diag(sign(cumulant(x’)))*tanh(x));

function y=cumulant(x)
y=mean(x."4)-3*mean(x."2).72;

function ica_image3
% FastICAOODODO ICAOOO

close
figure
set(gcf, ’Position’, [10 550 800 200]);

 0000o0O0ooOoooa
load pics_128x128
sl=images(:,:,1);
s2=images(:,:,2);
s3=images(:,:,3);
s=[s1(:) s2(:) s3(:)]’;

m=size(s,1); % 000
n=size(s,2); % U000

viewer(s)
pause

% 0000000
A=randn(m) ;

x=A%*s;
[x,V,D]=prewhitening(x);

viewer (x)
pause

W=eye(m) ;
for k=1:20

y=W*x;
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L=diag(mean(y.*gg(y),2));
B=(diag(mean(ggg(y),2))-L)"(-1);
W=W+B* (L-(gg (y) *y’)/n)*W;
[Q,R]=qr(W’);
W=Q’;
viewer (y)

end

% 000000o
function viewer(x)
n=size(x,1);
for i=1:n
y=reshape(x(i,:),128,128);
subplot(1l,n,i)
% Image processing toolbox 00000 Oimage() D OO0
imshow (y, [min(y(:)) max(y(:))]1)
drawnow
end

function y=g(y)
y=y. 4;
%y=log(cosh(y));
hy=—exp(-y."2/2);

function y=gg(y)
y=4xy."3;

%y=sinh(y) ./cosh(y);
hy=y .*exp(-y."2/2);

function y=ggg(y)
y=12%y."2;
%y=1./cosh(y)."2;
%y=(1-y."2) .*exp(-y."2/2);

function y=nor(y)
% 00 yOOOOoOOOO1000000

y=y-repmat (mean(y,2),1,size(y,2));
y=diag(mean(y."2,2)."(-1/2))*y;

function err=mseica(s,A,y,W)

n=size(s,1);
N=size(s,2);

y=diag(mean(y."2,2).~(-1/2))*y;

% PIOOQO0
% P=abs(WxA);
% errO=sum(sum(P*diag(1./max(P)))-1)+sum(sum(P’*diag(l./max(P’)))-1);

% 00000 msedO0O
Q=repmat (mean(s."2,2)’,n,1)-(y*s’/N)."2;
errl=mean(min(Q));

% 00000 msedOO

A=A*diag(mean(A."2).7(-1/2));

We=inv (W) ;

Q=repmat (mean(A."2),n,1)-((We’*A/n)."2)./repmat (mean(We."2)’,1,n);
err2=mean(min(Q)) ;

% 000000000 ccODOOO
err3=cc_sub(y*y’)+cc_sub(y. 2%y’ )+cc_sub(y. 3%y’ )+cc_sub(y. 4*y’);
err3=err3/size(y,2);

err=[errl ; err2 ; err3];

function p=cc_sub(P)

n=size(P,1);
P=abs(P);
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PD=diag(P);
PND=P-diag(PD) ;
p=sum(PND(:))/sum(PD(:))*(n-1);

function [y,v,d]=prewhitening(x)
x=x-repmat (mean(x,2),1,size(x,2));
[v,dl=eig(x*x’/size(x,2));

d=d~(-1/2);
y=vkd*v’*x;

function [y,W]l=tdical(x,eta,maxIter,MaxTau)
% Extended Infomax 0O OO BSD(TDICA)

% x: OO0OO

% eta: 0OO0O

% maxIter: DO ODOO0O

% MaxTau : DO OO0O0O00O0O0O

m=size(x,1); % 00O OO0
n=size(x,2); % 000

% 00000000
W=zeros(m,m,MaxTau) ;
W(:,:,1)=eye(m);

%x0000000o0o00O00D10000DD
x=nor (x) ;

% 00000
for i=1:maxIter

y = zeros(size(x));

for j=0:MaxTau-1

y =y + W(,:,j+tl)xdelay(x,]);
end
for k=0:MaxTau-1
cory(:,:,k+1)=phi(y)*delay(y,k)’/n;

end

DeltaW=zeros (m,m,MaxTau) ;

for j=0:MaxTau-1

for k=0:j
DeltaW(:,:,j+1) = DeltaW(:,:,j+1)...
+ ((k==0)*eye(m)+cory(:,: ,k+1))*W(:,:,j-k+1);

end

end

W =W + eta * DeltaW;
% plot(y(1,:),y(2,:),’r.”);
% K=5;
% axis([-K K -K K1) ;
% axis square

K=30;

plot(-K:K,xcorr(y(1,:),y(1,:),K), bo-’,-K:K,xcorr(y(2,:),y(2,:),K),’rx-",...

-K:K,xcorr(y(1,:),y(2,:),K),’gs-?)
axis([-K K -300 2500]);
drawnow;
end

function y = phi(x)
y=-(x+diag(sign(cumulant (x’)))*tanh(x));

function y=cumulant (x)
y=mean(x."4)-3*mean(x."2).72;

function y=delay(x,n)

N=size(x,2);
y=x(:, [N-n+1:N 1:N-n]);
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